PREVIEW QUESTION BANK(Dual)

Module Name : NCHM JEE-2024
Exam Date : 11-May-2024 Batch : 11:00-14:00
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Objective Question

1

21001

Objective Question

2

21002

4.0 [1.00
The area of a rectangle having sides in the ratio 1 : 4 is equal to the area of a square of side 8 cm.
The perimeter of the rectangle (in cm) is :
(1) 32
(2) 36
(3) 40
(4) 44
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If mean of the observations 6, 16, (K +26), (2K —3) and 10 is 14, then the value of H, 15 :
2
(1) 25
(2) 185
(3) 13
(4) 8.5
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Objective Question

321003 4.0 |1.0(
If the length of the diagonal and the area of a rectangle are 25 m and 168 m?, respectively, then the
longer side of the rectangle is :
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Objective Question

4 21004 4.0 [ 1.00
A and B, working together can do a work in 8 days. If A alone can do the work in 12 days, then
in how many days can B alone do 25% of the work ?
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Objective Question
5 21005 4.0 |1.0(
The sum of all possible values of K such that a 5-digit number 9 0 K 6 8 is divisible by 8 will be :

n 21
(2 23
(3) 25

) 26
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Objective Question

6 21006 4.0 [ 1.00
In a clearance sale, goods were sold at a reduction of 20%. Sarika purchased a saree for ¥ 984 in
the clearance sale. The usual price of the saree was :

(1) T 1184
(2) %1066
(3) T 1148
(4) T 1230
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(2) T 1066
(3) T 1148
(4) T 1230
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Objective Question

7

21007

Two trains having lengths 680 m and 570 m are running towards each other on parallel tracks
with speeds of 80 km/h and 70 km/h, respectively. In how many seconds will they be able to
cross each other ?

(1 20
(2)

(3) 30
(4)
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Objective Question
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What is the HCFof 8, 8. 2 7
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Objective Question
9 21009

In a class of 60 students, 60% are boys. The average of marks of the boys is 68 and that of the girls
is 72. What are the average marks of the whole class ?
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Objective Question
10 21010
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313822 + 315625
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Objective Question
11 21011 4.0 | 1.0(

If a* +i4=322,thenthevalueofa— l is :
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Objective Question

12 21012 4.0 1.0(
In an election between two candidates, one of them got 62% of the total votes polled and won by
432 votes. What is the total number of votes polled ?

(1) 1500
(2) 1600
(3) 1800
(4) 1900
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Objective Question

13 21013 4.0 |1.0(
If the difference between 58% and 76% of a number is 198, then the difference between 82% and
46% of the same number will be :

(1) 286
(2) 396
(3) 432
(4) 506
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Objective Question

14 21014

1
T 10000 is invested for 15 years at 10% p.a. What is the difference between the compound

interests when the sum is compounded half yearly and when it is compounded annually ?

(1) %2450

(2 T2525
(@) T25.75
(4) T26.25
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(1) %2450
(2) T2525
(3) %2575
(4) T2625
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Objective Question

15 21015

Joseph started a business by investing T 100000. After 2 months, B joined him by investing
T90000. After 4 more months, C joined them by investing ¥ 100000. The ratio of their shares in
the profit at the end of the year is :

(1) 10:9:10
(2) 10:9:5
3} 0:5:8
4 4:3:2
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(4) 4:3:2
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Objective Question

16 21016

The ratio of present ages of A, Band Cis3:4:5. After 6 years, the average age of all the three will
be 26 years. What was the difference between the ages of B and C, 4 years ago ?
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Objective Question

17 21017

A and B can do a work in 120 days, B and C can do it in 72 days while A and C can do it in 90
days. In how may days can C alone do the work ?
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Objective Question
18 21018 4.0 1.0(
A man sold two articles for ¥ 4000 each with no profit no loss in the whole transaction. If he sold
one article at a gain of 25%, then the other article has been sold at a loss of :
2
20=%
(1) 203
(2) 25%
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Objective Question
19 21019 4.0 | 1.0(



In a journey of total 24 km, a man noticed that after cycling for 1 hour 40 minutes, the distance

5
covered by him was = of the remaining distance. What was his speed in meters per second ?
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Objective Question
20 121020 4.0 1.0(
The sum of two numbers is 240. If the numbers are in the ratio 3 : 5, then the sum of their LCM and
HCF is:
(1) 450
(2) 460
(3) 480
(4) 496
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Objective Question
21 21021 4.0 1.0(
What is the average of first 16 multiples of 9 ?
(1) 72
(2) 765
{3} 77.25
(4) 79.75
% el 16 TSI I Siad F T2
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(3) 77.25
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Objective Question
22 21022 4.0 | 1.0(
What is the least number that must be added to 6412 to get a perfect square ?
(1) 12
(2) 120
(3) 149
(4) 1lel
guf af HeEn gra = o T 6412 § B ¥ Bt & o W sireHt v ?
(1) 12
(2) 120
(3) 149
(4) 161
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Objective Question
23 21023 4.0 |1.0(
28— (74+3.7X5)+5x2 =
(1) 2.76
(2) —2.64
(3) 68
{4 ~—12
28— (74+3.7X5)+5x2 =
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Objective Question

24 21024 4.0 |1.0(
The monthly salaries of A and B together amount to ¥ 40000. A spends 82% of his salary and
B, 94% of his salary. If their savings are the same, then the salary of A is :

(1) % 10000
(2) % 18000
(3) T 22000
(4) % 30000
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Objective Question
25 21025 4.0 1.0(
The simple interest on a certain sum at the rate of 7% for 6 years is ¥ 3024. The sum is :
(1) ¥ 7000
(2) ¥ 7150
(3) T 7200
(4) 7280

ot TfsT 9T 7% T X Y 6 F9 T WIYRY AT T3024 8 1 98 AW T
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Objective Question
26 21026 4.0 | 1.0(
If (a+b):(b+c):(at+c)=6:7:8and a+b+c=14, then the value of a is :
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Objective Question

27 (21027 4.0 | 1.0(
In what ratio should two varieties of sugar costing ¥ 52/kg and ¥ 42/kg, respectively, be mixed to

get a variety of sugar costing ¥ 45/kg ?

(1) 21:26
2 3:5
(@) 3:7
@4 7:9

< 5t < for e gog waen: 352/ fE . qen 2 42/ €, form e o faed st wnifeu fo <
=1 T2 e 1 qoa T 45/ fw., sme?
(1) 21:26

Objective Question

28 121028 4.0 | 1.0(
A solid metallic cube having surface area 864 cm? is melted to form 64 small solid cubes of same
size. The sum of the surface areas of all the small cubes so formed (in cm?) is :

(1) 3200
(2) 3328
(3) 3456
(4) 3584

1] 1 Teh 319 ¥, Toreh1 T2t St 864 cm?2 €, 3 TUsIeTsht I |19 36 64 319 B2-B1 ¥4 941 Y|
39 YRR G4t 99 B ST % TS et B AT (em?H) ®
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Objective Question

29 21029 4.0 1.0(
A is three years older than B who is twice as old as C. If the sum of the ages of A, B and C be
28 years, then how old is B ?

(1) 7 years
(2) 8 years
(3) 9 years

)
(4) 10 years
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Objective Question
30 21030 4.0 | 1.0(
A number when multiplied by 18, increased by 357. The number is :
(1) 19
(2) 20
3) 21
(4) 23
foRell Hwe 61 18 | 0N oA W 98 357 9g Sl © | W €
(1) 19
(2) 20
3 21
(4) 23
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Objective Question

31 21031 4.0 | 1.00
Select a word from the given options which is related to the third term in the same way as second
term is related to the first term.
Professor : Teaching : : Physician : ?
(1) Doctor
(2) Patient

(3) Treatment

)

(4) Surgery

fau TTu farredl  © 39 9168 1 FEA HITC SN AL g ¥ ik 3 gER gefud € g veER ¥ guu e wwd
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Objective Question

32 21032 4.0 |1.0(
Arrange the given words in a meaningful sequence and choose the most appropriate sequence
from the given alternatives.

(a) Book

(b)  Pulp

(c) Tree

(d) Forest

(e) Paper

@) (), @) (b) (), (e)
2 (@) (©, (b) (e), (a)
@) (@, ®), () (o) (a)
@) (©). (d), (b) (e). ()
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Objective Question
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33 21033 4.0 1.0(

Choose the odd one out from the given alternatives.
(1) NTP:PGR

(2) RSB :THD
(3) KGN : MTP
(4) QDL :SWP

1 feu o fasredi W ¥ 39 fasey 1 =7F Sifew S 9w a9 fawed ¥ fa= €
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Objective Question
34 21034

NTP : PGR
RSB : THD
KGN : MTP
QDL : SWP
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36 21036

Six friends G, H, I, P, Q and R are sitting in a circle facing the centre. H is between Pand 1. G is
between Q and I. R is to the right of P. Who is between G and H ?
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Objective Question

Find the missing term in the followi_ng series.
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ab, abbc, ? , abbcedde, abbeeddeef

abced
abbccd
abbed
abbccdd

frefafea gaen o 7 98 I Hie |
ab, abbc, ? , abbcedde, abbeeddeef
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Objective Question

abced
abbccd
abbcd
abbccdd
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Choose the odd number pair from the given alternatives.

(1) 18 : 306
(2) 16:272
(3) 15:255
(4) 19:313
feu mmu foeredl # | 39 foaerey &1 === Hifse St 99 41 faepedi @ = €
(1) 18 : 306
) 16:272
(3) 15:255
(4) 19:313
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Objective Question
37 21037 4.0 1.0(
X" is the husband of "M’. ‘N’ is the only grandson of “Z’, who is the wife of Y’ and mother-in-law

of 'M’. How is ‘X’ related to "Y' ?
) Nephew
(2) Son
(3) Son-in-law
(4) Brother-in-law
XM R Afa ' N, ‘Z ST Y U SRCM St I T, R SShal 9 ©1 X R Y F 91 1 gy
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Objective Question
38 21038 4.0 | 1.0(



39 21039

Observe the figure given below and answer the question.

/o\

What is the sum of the numbers which belong to any two ﬂgures only ?
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Objective Question

‘G, 'H,'T" and ‘] are playing carrom, ‘G, 'I' and °]’, '"H’ are partmers. ‘] is to the right of ‘T, who
is facing West. Then ‘H' is facing :

(1)
)
3)
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South
East
West
North
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‘G,H, TR FHBA®RE G, T AT, H IR ¥ P, 1 S TR uftem i SR e e 99 R
% qifer se1 o 1 ‘H’ foFha iR W 0k Ja1 82

(1) =feqor

@ w

(3) fT=m

(4) =W
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Objective Question

40 21040

Some words are given below which are related in some way. The same relationship obtains among
the words in one of the four alternatives given under it. Find the correct alternative.

Grass : Garden : Flowers

(1) Quilt: Bed : Pillow

(2) Road : Footpath : Traffic

(3) Picture : Wall : Building

(4) Pen : Book : Pencil

1 Fo vee fou T E S ooy H Uk W YRR W S | A fou o um faswedl § 4 vk fased & vee
ol 3ET WE TR ¥ IER T2 g0 E | 39 W fashed & =E Hifen |

I ST - B

(1) & : fow - aferan

(2) HEH: T : A

(3) IR SEN : Wad

(4) HEH : TEF ; gfEA
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Objective Question
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If in a code languages, ‘JIYA" is coded as 180 and 'NAVAL’ is coded as 250, then how will
"TANISHA' be coded in the same code language ?

(1) 288
(2) 360
(3) 432
(4) 504

T Fe 9 H JIYA’ R 180 3 ¥ # fomn mn € SiUNAVAL #1250 % &9 # fomn mr € @1 369 e
T HTANISHA' i T8 9&R 9 fora smem ?

(1) 288

(2) 360

(3) 432

(4) 504
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Objective Question
42 21042 4.0 1.0(

Choose the missing term of the series from the given alternatives.
H20L, K19H, N19E, Q20C, ?

(1) T21B
(2) S21B
(3) T22B
(4) T22A

Fr=1 fau o forkredi § ¥ g@en % @ US T FAT Hife |
H20L, K19H, N19E, Q20C, _ ?

(1) T21B

(2) S21B

(3) T22B

(4) T22A
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Objective Question
43 21043 4.0 | 1.0(




A "Mechanic” is related to ‘Garage” in the same way as ‘Lawyer’ is related to :
) Criminal

(2) Judge

(3) Court

(4) Client

o9 7R @ TSt (HeRIfTR %R W1 21 g ® S YRR § e, "9 9 8

(1) ST

(2)

(3
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Objective Question
44 21044 4.0 1.0(
Complete the series by replacing the question mark (?).

ACZ,DGU,HLN,MRE, 7

(1 SYT
(2) SXT
(3) SXU
(4) RXT

YeTaE o T T Gel faswed 1 991 Fk gEen Sl T H |
ACZ,DGU,HLN, MRE, ?

1) SYT
@) SXT
() SXU
) RXT
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Objective Question
45 21045 4.0 /1.0(



Go through the following informations carefully and answer the given question :
(i) Kamal, Gagan and Harish are smart.

(i) Kamal, Raman and Jagmohan are sincere.

(iii) Raman, Harish and Jagmohan are loyal.

(iv) Kamal, Gagan and Jagmohan are ambitious.

Which of the fD]_lowi_ng person is neither sincere nor ambitious ?

(1) Gagan
(2) Kamal
(3) Raman
(4) Harish

frfafea SMeEl s FaamYEs 96 3 fou Te 9ed 1 3w T
(i) A, TH R I TR

(i) HHE, T, R SHREA e €1

(i) T, B9 3R SETHed freraE ¥

(iv) W, T 3R SATHIEH Hershia € |

frefafea o & o safaa 7 a1 frepae € 2R 7 & geereial ?
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Objective Question

46 21046

In the given question certain pairs of words are given, out of which the words in all pairs except
one bear a certain common relationship. Choose the pair in which the words are differently
related.

(1) Moon : Satellite

(2) Venus : Planet
(3) Rocket : Space
(4) Sun : Star

oo B ey ws-grH fu e € o & ue vres-grH 1 Siga 99 el vsg- g % vssl o o Uk @
YR 1 GTER Teiel ¥ 1 39 -7 1 99 B forren vIeg o9 # fi R ¥ e gu
(1) =3

(2) TH:TE
(3) Tehe : HaRa
@4 .
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Objective Question

47 21047 4.0 |1.0(
If ‘green’ means ‘blue’, ‘blue” means “white’, “white” means ‘red’, ‘red” means “black’, ‘black” means
‘brown’ and "brown” means ‘yellow’ then the colour of blood is :

(1) blue
(2) brown
(3) Dblack
(4) white

It g o1 e B, e el ' ge ' €, uiRe ot o' §, e o 21 e €, e\
aref ‘o’ & aen ‘o’ o1 e e’ €t T o1 T B
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Objective Question

48 21048 4.0 [ 1.00
Jaya and Kishore are a married couple having two sons Mohit and Naval. Binita is daughter of
Mahesh and daughter-in-law of Kishore. Priyanka is daughter of Naval and Gauri. How is Mohit
related to Mahesh ?

(1) Father
@

(3) Brother
(4) Uncle

Son-in-law
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ST 3R fopeiR U grfa € fomer < 4 wifed o) Joa €1 forftan, wewr 1 T SR fROR o gEey
forieh, ot i T &1 O3t € | Hifeq, wew o1 30 T & 2

1)
@
G

)
)
4)

1
A2,
2
3
M

4

Objective Question

If in a certain code language ‘NOTE’ is coded as ‘XOJE’, ‘ROSE" is coded as ‘BOIE’, then how will
you code ‘LOVE' in the same language ?

0
@)
)
(4)

Ifg %2 91 §, 'NOTE' =1 *XOJE’ feran 11 & 271 ‘ROSE’ %1 “BOIE’ fer@ Sl 8 @ ‘LOVE’ %l 341 %2
o # S feran s ?

o
T
o
=l

VOME
VOLE
WOLE
VOKE

(1) VOME
(2) VOLE
() WOLE
(4) VOKE
Al

1
A2,

2
A3 5

3
Ay

4

Objective Question

4.0 1.0(

4.0 | 1.0(



Arrange the words in the sequence in which they occur in the dictionary and then choose the
correct sequence.

(a) Introduce
(b) Intrude
(c) Introvert

(d) Internal

@ @, @), ®) ()
2 @, (@) (© (b)
3) (@) @ () (b)
4) (@) () (a) (b)

fGU 7T IR} o VeIVl o N O SATHR HAfd wiITAY qo Hafvd Hel hH faskey g
(a) Introduce
(b) Intrude

(¢) Introvert
(d) Internal

(1) (), (d), ®),(c
(2 @, (d), (©(
(3) (d), @), (), (b
4) (), (©, @), (
Al
1
A2 5
2
A3 3
3
Ay
4

Objective Question
51 21051 4.0 | 1.0(
Choose that set of numbers from the alternatives that is similar to the given set.

(9, 27, 81)
(1) (15, 52, 125)
(2) (12, 60, 98)
@) (3, 12 31)
4) (12, 36, 108)

fou o foskredl ® ¥ 35 Hen-gg=[ &1 999 $ 91 A9 e T =g & gEd § |
(9, 27, 81)

(1) (15, 52, 125)

(2) (12, 60, 98)

(G) (3, 12, 31)

(4) (12, 36, 108)

Al

1



A2
A3
A4

Objective Question

52 21052 4.0 1.0(
Which of the following Venn diagrams indicates the best relationship between Children, Naughty
and studious ?

§)

2) @O
®) @

e
Al
»
A3
s

4

Objective Question
53 21053 4.0 /1.0(



54 21054

The number of triangles in the given figure is :

7S srfa # Pragi = g fEat €2

@ 13
@ 15
@) 17
@) 14
a 13
@ 15
G) 17
@) 14
Al

1
A2 5

2
A3

3
Ay

4

Objective Question

Select the option that is related to the third letter cluster in the same way as second letter cluster is
related to the first letter cluster.

POL: QJK.: : FIS :

0
2
(&)
4

GYT

HGX
GZU
HGU

?

4.0 | 1.0(



a1 feu o fosredl § | 39 fosred o1 =g ¥ 51 T AER-9HE & 919 3k 39 YR 9§21 § 5 uER
¥ Y Se-THE Tedl HEH-THE & 1Y T g ¢
POL : OJK :: FTIS:

1)
2)
)
4)

1
A2,
2
3
Ay

4

Objective Question

55 21055

Select a ﬁg11_re from the given four alternatives which when placed in the blank space of the given
ﬁg11_re would complete the pattern.

GYT

HGX
GZU
HGU

A

A

0

@)

@)

© 2| ©

®

?

4.0 | 1.0(



fou Tu =R foredi # € 39 stehfa 1 =r9A Fifey ford <t 18 omeRfa o fiad ToH W wEH 9 it il SR
1 e g e A

NIE

©

(1)

2

@D ®

(4)

Al
A2
A3

A4

4

Objective Question
56 21056 4.0 1.0(
A statement is given below, followed by four arguments numbered (1), (II), (III) and (IV). Decide

which of the following arguments is/are ‘strong’ arguments. Choose answer from the alternatives
given below :
Statement : Should ‘literacy’ be the minimum criterion for becoming a voter in India ?
Arguments : () No, more literacy is no guarantee of political maturity of an individual.
(II)  Yes, it will reduce corruption in the system.
() No, voting is the constitutional right of every citizen.
(IV) Yes, lliterate people are less likely to make politically wiser decisions of
voling for a right candidate or party.
(1) Only (I) and (II) are strong.
(2) Only (I), (II) and (IV) are strong.
(3) Only (I), (LI) and (IV) are strong,.
(4) Only (II) and (IV) are strong.



Objective Question
57 21057

(L
(2)
()
4)

(1)
(2)
3)
4)
AL

1
2
A3
3
M
4

Objective Question

= wek e T T ¥ SEE W] =R a (1), (1), (1) 3R (1V) few e ¥ faofa o6t fR E-mraE-g
A% Hge ah ¢/ | " feu fosedi # 9 3w gfu
U

F1 YA H HaQrd a1 oF faly  Wierar’ i =Aaq Huse SAE Sl ey ?

() 7, et weRa foret =afaa 1 Terifas e &1 qitadear 1 TRl 7 © |

(D) o, Y e § YRR FH S

(Ill) &, Hae FE Gk AR 1 GAHE AR €|

(1v) =, Frgr =afe 92 Seffqar s1eer <o & fau waem 31 1 IEaE €9 F faasyo
frofa o 9 sriesra &0 Tem ST ¢ |

Fad (1) AR (1) g8 T &

Faet (I), (II) ST (IV) gge a5 & |

Fad (1), (1) 2R (1V) ggg 7 T

Faa (1) 3R (IV) ¢ T & |

Find out the alternative which will replace the question mark.
January : November : :
Thursday
Sunday
Tuesday
Saturday

Monday : ?

39 ge! fasheq 1 =@F i S IeAfog & Gl ®9 H T S 8 |
S TR HWER ;2

TEAR
Ifaar

TN
MIECIES

4.0 1.0(
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Directions : Study the following information carefully and answer the questions :

Seven friends G, H, I, |, K, L and M live in three different buildings Ashiana, Gharonda and Basera.
Each of them is wearing different colour shirts i.e. red, green, blue, white, black, yellow and pink
not necessarily in that order. Not more than three or less than two stay in any of the buildings. L
is wearing pink shirt and lives in the same building as only M, i.e. Ashiana. Iis wearing a black
shirt and does not live in Basera. | does not live in the same building as G or K and is wearing a
yellow coloured shirt. H lives in Basera with only one more person and is wearing a green shirt.
None in the Gharonda building wears a white shirt. K does not wear a blue shirt.

Who is wearing a blue shirt ?

1 G
2 1]

3 M
(4) H

fadon: = &t € ST i wraeTydes ufen it wve s i)

i 31 G, H, 1, ], K, L 3R M 11 sterm-stem fafegn snfemmn, s'ier oik o890 8 wa €1 59 9 9o 3
STETT- 3T U1 F I (FHIS) 3fq e, 29, Hien, Wike, shren, e 3R Terst I8 (i) TeT W F,
AfeF cTavrF i fF i wmadiFra P dfafcnddm A s dFndmT& wa €1 LA

TS WE (SFHTS) TR ¥ SR 9 e M Ty 2N § e €1 1 Fen 98 (FHS) T T 39 9

a0 H 7E war g1 | 3 fafee # 74 vea & o fafegn # G K w6 € R e Wen wé (FHs) w8

W@ ¥ H Faad &R uF 07 F e 990 ¥ T € o 399 w0 I (FHiS) ved €1 wiier fafeen o

AT FE off SAfe Fihg wE (FHIS) el e €1 K Ao 9 (FHS) T Teeal €
Hren 2 () TR e T T ?

H G
@2 17
(3) M
4) H
Al

1
A2,

2
A3 5

3
Ay

4

Objective Question
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4.0 1.0(
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Directions : Study the following information carefully and answer the questions :

Seven friends G, H, [, ], K, L and M live in three different buildings Ashiana, Gharonda and Basera.
Each of them is wearing different colour shirts i.e. red, green, blue, white, black, yellow and pink
not necessarily in that order. Not more than three or less than two stay in any of the buildings. L
is wearing pink shirt and lives in the same building as only M, i.e. Ashiana. Iis wearing a black
shirt and does not live in Basera. | does not live in the same building as G or K and is wearing a
yellow coloured shirt. H lives in Basera with only one more person and is wearing a green shirt.
None in the Gharonda building wears a white shirt. K does not wear a blue shirt.

Who stay in Gharonda building ?

(1 KH

0 GLEK
3 LJL
(4) G MH

fadon: <= <t 71 SRt St WraeTitgeE ufen it wee e i)

e f5 G, H, 1, J, K, L 3R M 11 31erm-s1em fafegn anfymmn, s'ier ok a8 & ®d €1 50 9 9o 3
STERT-3TeFT 17 o I (SFHIS1) S7fq e, &9, em, Hhe, el 9o 3R Terst e (FHs) T ™ T,
Afa savs RifFEtimad g e Ff A fafenddm A s ddsndm & I €1 LA
TSt 96 (HiST) Te € 2R o Sheet M 3wy SnfiEn § @ €1 1A e 9 () e € i o
T80 ¥ 7 war g1 | <5 fafeen ¥ 78 e € o fafeen # G WK w ¥ SR s den v () T
@ €1 H Faa o ok o & w1 9893 # w1 ¥ oK 399 50 v (FHS) ved @ w1 s fafesn §
Earen HE off SAfad ghe e (FHE) T e g1 K e 92 (S ) 18 gt 2

wifer fafedt # #iF o 8/wa €2
1) KH
B CLE
@) LJL
4) GMH
Al

1
A2 5

2
A3 3

3
Ay

4

Objective Question
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Directions : Study the following information carefully and answer the questions :

Seven friends G, H, [, ], K, L and M live in three different buildings Ashiana, Gharonda and Basera.
Each of them is wearing different colour shirts i.e. red, green, blue, white, black, yellow and pink
not necessarily in that order. Not more than three or less than two stay in any of the buildings. L
is wearing pink shirt and lives in the same building as only M, i.e. Ashiana. Iis wearing a black
shirt and does not live in Basera. | does not live in the same building as G or K and is wearing a
yellow coloured shirt. H lives in Basera with only one more person and is wearing a green shirt.
None in the Gharonda building wears a white shirt. K does not wear a blue shirt.

What coloured shirt M is wearing ?

(1) Black
(2) Red
(3)  White
(4) Blue

fadon: <= <t 71 SRt St WraeTitgeE ufen it wee e i)

e f5 G, H, 1, J, K, L 3R M 11 31erm-s1em fafegn anfymmn, s'ier ok a8 & ®d €1 50 9 9o 3
STERT-3TeFT 17 o I (SFHIS1) S7fq e, &9, em, Hhe, el 9o 3R Terst e (FHs) T ™ T,
Afa savs RifFEtimad g e Ff A fafenddm A s ddsndm & I €1 LA
TSt 96 (HiST) Te € 2R o Sheet M 3wy SnfiEn § @ €1 1A e 9 () e € i o
T80 ¥ 7 war g1 | <5 fafeen ¥ 78 e € o fafeen # G WK w ¥ SR s den v () T
@ €1 H Faa o ok o & w1 9893 # w1 ¥ oK 399 50 v (FHS) ved @ w1 s fafesn §
Earen HE off SAfad ghe e (FHE) T e g1 K e 92 (S ) 18 gt 2

M A o 37 %1 ¢ (FHIS1) T8 Ta1 © ?

Objective Question

61

21061

Arrange the five layers of our atmosphere in correct order starting from the earth’s surface.
(A) Stratosphere

(B) Troposphere

(C) Exosphere

(D) Mesosphere

(E) Thermosphere

Choose the correct answer from the options given below :
(1) (B), (A), (D), (E), (O)

(2)  (B), (A), (D), (Q), (E)

(3) (A), (O, (D), (B), (E)

4) (A) (B), (B), (D), (C)

4.0 | 1.0(



geeff ¥ TR FT IR S g agHed H uid gdel 1 9el o ¥ srafera Fifa
(A) HHAY HeA

(B) &lvHed

() dferess

(D) wHEHSH

(E) @@ agHed

= feu U famed o | Wl IR &1 =99 FHfA
(1) (B), (A), (D), (E), (O)

2 ®),(A), (D), (©), (B)

(3) (A, (©), D). (B) (B

4) (A), (B), (B), (D), (O

Al
1
oF
2
Ay
3
M
4

Objective Question

62 21062 4.0 1.0(
Which river makes the second biggest waterfall in India, known as Shivasamudram Falls ?
(1) Mahanadi

(2) Kaveri
(3) Krishna
(4) Narmada

$H G 7T YR F T GaY T STA-JIT (waterfall) 1 fafor St €, o foremagn sra-gaa % 7w 4
ST ST € 2

Objective Question




63 21063
Statement (A) : Removing barriers or restrictions set by the government is known as
liberalisation.
Statement (B) : This meant that goods can be imported and exported easily.
Choose the correct answer from the options given below :
(1) Both Statement (A) and (B) are correct.
(2) Both Statement (A) and (B) are incorrect.
(3) Statement (A) is correct, (B) is incorrect.
(4) Statement (A) is incorrect, (B) is correct.

HAT (A) : TN G S TG HGH a7 Gfaaisii 1 B2 ST FHEem ¢ |
T (B) : THH A § R 3l 1 o ¥ sma 9 fafa fen st oweRa ®)
Fr=1 fau U foekedi § ¥ Wet 3o 1 =g HIfSC ;

(1) =REE (A) 9 (B) THI TEl §1

2) I (A) T (B) AT T €

3) YA (A) & 2, @0 (B) T B |

(4) THYA (A) T €, qAT (B) Tl €

_——

Al

1

A2 5
2
3
M

4

Objective Question

64 21064
Which of the following is not included in terms of credit ?
(1) Interest rate

(2) Collateral and documentation

(3) Mode of repayment

(4) History of the money lender

1 % HeM | Frfafed # 9 == wfre =8 €2
(1) =4 &

(2) HuI¥erer qe SEATESIRTT

(3) T JTAT T HIEAH

(4) HTEER F e

Al
A2

A3

A4

4.0 1.0(
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4

Objective Question
65 21065 4.0 1.0(
Which writ is issued when the court finds that a particular office holder is not doing legal

duty and thereby is infringing on the right of an individual ?
(1) Mandamus

(2) Prohibition

(3) Certiorari

(4) Habeas Corpus

I F T THER o R o giafesa veurd fafiramra sdsr frafe 72 #¢ @@ & 9o 39 goR 5 &
Aferepl o1 e X T ®, W feofa § wE-gt afeen (writ) ST R SR E 2
(1) 9HRY (Mandamus)
) Ufd9¥ (Prohibition)
(3) IEUU-T" (Certiorari)
) @&l YA (Habeas Corpus)

Objective Question
66 21066 4.0 1.0(
Under Which writ, the court orders a lower court or another authority to transfer a matter

pending before it to the higher authority or court ?
(1) Habeas Corpus

(2) Mandamus

(3) Quo Warranto

(4) Certiorari

form oifaert (R2) & afwia 1o fach e stgar o= feerrl =1 3O guel faamsia ame =
TR VIR A9 STeTerd hl S&iarid shid ol ey <l © 2

(1) el IR { Habeas Corpus)
(2) WHEY (Mandamus)
(3) HAMEER-Y=31 (Quo Warranto)
(4) SAT-TE (Certiorari)
Al
1
A2y
2

A3 5

3



Ay

4

Objective Question
67 21067 4.0 1.0(
In which year was the Scheduled Castes and the Scheduled Tribes (Prevention of Atrocities)

Act framed ?

(1) 1974
(2) 1999
(3) 1989
(4) 1979

e s we srgfaa senfa (R Fero) sfuafem w0 e feg od gon ?
1 1974

2 1999
(3) 1989
@ 1979

Al

1

2
A3 3
3

Ay

4

Objective Question

68 21068 4.0 1.0(
Who wrote the book titled ‘Freedom from Fear” ?
(1) Aung San Suu Kyi

(2) Nelson Mandela
(3) Karl Marx
(4) Mahatma Gandhi
“wiien WM TR’ T % TR i §
(1) IR g =
(2) AoHd Hea
(3) oIel W
(4)  FETCHT iE
Al
1
A2
2
I
3
Ay
4

Objective Question



69 21069
Which of the following is known as “Adi Kavya’ ?
(1) Bhagavad Gita
(2) The Ramayana
(3) The Mahabharata
(4) Matsya Purana

foreferfiga o @ forg v 1 * enfesrren’ 3 9w § <1 S 22
(1) eI

(2) IWHET

(3) HeMRd

(4) A& U

Al

1
2
A3
3
Ay
4

Objective Question

70 (21070
Match the Rigvedic names of the rivers (List I) with their modern names (List II).
(List I) (List II)
(A) Vitasta () Beas
(B) Vipas (II)  Chenab
(C) Asikani (III) Sutlej
(D) Sutudri (IV) Jhelum

Choose the correct answer from the options given below :
(1) (A)-IV), (B)-(D), (C)-(II), (D)~(1L)
(2) (A, (B-(IV), (C)-(II), (D)~(1M)
(3 (A)-I), (B)-(IV), (C)-(ILI), (D)-(I)
@) (A)-IV), (B)«(D), (C)-(ILD), (D)-(I)

et 1 7 feu o Afe=l = sprrafess =i 1 i 1 H 9 7 396 snefer Wi & e i -

Tt 1 gt 11
(A) o ==
(B) foram (I =
(C) «fgeRa (IIT) |t
(D) Hif= (Iv) sem

A= fou 1o fawedi # ¥ W& A 1 99 Hife
(1) (A)-V), (B)-(1), (C)-(II), (D)~(111)
(2)  (A)D), (B-(IV), (C)-(IT), (D)-~(11L)
(3) (A1), (B)-(IV), (C)-(I1T), (D)-(IT)
4)  (A)HIV), (B)«(D), (C)-(IIL), (D)-(1D)

Al

1

4.0 1.0(

4.0 | 1.0(



A2
A3

Ay
4

Objective Question
71 21071

Who said, “Jai Jawan, Jai Kisan, Jai Vigyan” ?

(L
2)
(3)
4)

Lal Bahadur Shastri
Jawahar Lal Nehru
Atal Bihari Vajpayee
Narendra Modi

7R e[ foraa €, ¢ 51 stam, 519 feam, s faamt ?

(1)
2)
3)
4)

—

Al
A2
§A3
A4

4

Objective Question
72 21072

A TeTgL I
TETETA TeE
Fed fogrl arsue
g T

Which of the following metals is most reactive ?

()
2)
(3)
4)

Sodium
Aluminium
Copper

Zinc

frefafea & & $7-d og s sfafwamica 82

wifean
SegfHiEm
dia (Copper)
ST (Zine)

4.0 1.0(

4.0 | 1.0(



A3 5

3
Ay

4

Objective Question
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Match List - I with List-I1.

List - I List - IT
(AGENTS) (Name of Disease)
(A) Virus (0 Ring Worm
(B) Protozoa (I)  Tuberculosis
(C) Fungus (II) Malaria
(D) Bacteria (IV) Influenza

Choose the correct answer from the options given below :
(1) (A)-(I), (B)~(1V), (O)-(I), (D)-(II)
(2)  (A)IV), (B)-(L), (C)-(I), (D)-(I)
(3)  (A)IV), (B)-(II), (O)-(II), (D)-(I)
(4)  (A)-(m), (B)-(IV), (O-11), (D)-(I)

gl 1 et 119 s i
Tt 1 gt 11
(o ) ( ferurdt =1 = )
(A)  foarq (Virus) H <=
(B) WrEmsHam () e
(C) A% (Fungus) (1) werfe
(D) @M (Bacteria) (IV) He-9®M (Influenza)

= feu v fawed § | W 3 F 999 Hife
(1) (A)-), (B)~(IV), (C)«(I), (D)-(1D)
(2)  (A)-1V), (B)-(IID), (C)«I), (D)-(IT)
(3)  (A)(IV), (B)-(ILL), (C)(1D), (D)-(L)
(4) (A1), (B)~(1V), (C)«(1D), (D)-(I)

Al

1
A2,
2
3

4

Objective Question
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The headquarters of ISRO (Indian Space Research Organisation) is at :

(1)  Ahmedabad

(2) Hyderabad
(3) Bengaluru
(4) Sriharikota

4.0 1.0(

4.0 | 1.0(



U (YA SHafe dAFEHEH Hred) =1 geirer fod €

(1)
2)
©)
©

Al

1
A2,
2
A3
3

4

Objective Question
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STEHSER H
e o
STAE o
el |

The twinkling of stars is because of which phenomenon of light ?

(1) Reflection of light
(2) Atmospheric Scattering of light
(3) Atmospheric Refraction of Star light
(4) Total Internal Reflection of light
weRT9 o Topg wfaemd & faan fenfenrd €2
(1) T &% qUEEd 9
(2) WY F ATYHSHAA WHOH |
(3) FETI-UHIY F AgHST AT H
(4) I % HYUI SATARE WEd |
Al
1
=
2
A3
3
My
4

Objective Question
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Who is the founder of ISRO (Indian Space Research Organisation) ?
Dr. A.P.J. Abdul Kalam
Dr. Meghnad Saha

Dr. Homi. ]. Bhabha
Dr. Vikram Sarabhai

1)
2
®)
4)

4.0 1.0(
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TN (R fafRer ST ) F X i ¥ ?
(1) = TR, Tga FaW

(2) &l TR 9@

(3) EL B S W

(4) el Tazrm Qe

1
A2
2
i
3

4

Objective Question

77 121077

Match List - I with List - IL

List - I List - II
(Olympic Medal Winner) (Sport in which they received)
(A) Gagan Narang (I) Badminton
(B) P.V. Sindhu (I) Lawn Tennis
(C) Vijender Singh (III) Shooting
(D) Leander Paes (IV) Boxing

Choose the correct answer from the oplions given below :
(1) (A)-(II), (B)-(IV), (O)-(I), (D)-(II)

(2 (A)-(D), (B)-(ILL), (C)-(IT), (D)-(IV)
(3)  (A)-(m), (B)-(I), (CO-(1V), (D)-(IN)
(4)  (A)-(Im), (B)-(I), (C)-(II), (D)-(IV)
gt 13 Geft 118 s i
Tt 1 T 11
( 3freifass wees fasmr ) (&, fameh feg ues ura gim)
(A) TR AR (I wr=fhe
(B) e fay (I =@ 2f
() fosi fee (my gfé
(D) fodet T (IV) TeFRaTst

I fou 7o fawed § O WE a1 =9F Hifew

(1) (A)(II), (B)-(IV), (C)~(L), (D)-(II)

(2) (A1), (B)-(II), (C)-(1), (D)-(IV)

(3) (A)-(m), (B)-(I), (O)-(IV), (D)-(IT)

(4) (A1), (B)~(1), (C)-(1I), (D)-(IV)
Al
1
A2,

2



A3 5
3
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Objective Question
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When is the International Yoga Day celebrated every year ?
(1) 21 June

(2) 17" May

(3) 1 July

(4) 22" April

a4 feeg yfaed fog o wamn s € 2

(1) 2134

2 1778

(@) 19
4) 22 s
Al 1
1
A2 5
2
A3 3
3
A4,

4

Objective Question
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Match List - I with List - IL

List - I List - I
(A) Kathak (I) Kerala
(B) Bharat Natyam (I)  Andhra Pradesh
(C) Kuchipudi (III) Tamil Nadu
(D) Kathakali (IV) North India

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(ILD), (O)-(1D), (D)-(D)
(2) (A, (B)~(1V), (O)-(II), (D)-(I)
(3)  (A)-IV), (B)-(III), (O)-(I), (D)-(I)
). (C)

(B)-(11), (
(4) (A, (B)-(IV), (O-(1), (D)-(II)

4.0 1.0(
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Tt 13 Gl 11 E s e -

et 1 et I
(A) FIF I w
(B) STRaARAH (1) TS
© Ff=gd (i) afrerrg
(D) FHUeFe (IV) 3 9Rd

=1 fou o fosredi # @ W& I F TFA HifA
(1) (A)-(IV), (B)-(III), (C)-(ID), (D)~(I)
(2)  (A)-(II), (B)-(IV), (O)-(1I), (D)-(T)
(3)  (A)AIV), (B)-(IL), (C)(I), (D)-(1I)
4) (A)-(L), (B)~(1V), (C)-(D), (D)-(1I)
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Objective Question
80 21080 4.0 1.0(
Jagannath Temple is located in which state of India ?
(1) Tamil Nadu
(2) Uttar Pradesh
(3) Madhya Pradesh
(4) Odisha

S Tfer aRe % faen Tsa o arafeg ®2

(1) dfFeTg
(2) IWI
(3) TR
(4) ifgem
Al

1
A2

2

3
Ay
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81 21081 4.0 /1.0(




Palk Strait is the border line between :
(1) India and Afghanistan

(2) India and Sri Lanka

(3) China and Pakistan

(4) India and Nepal

Ik ¥2 (Palk Strait) fod ) 39 % == i HARET € ?
(1) R iR THEmH

(2) WRA 3 Ficia
(3) =9 3R g™
(4) WRA 3R A9A
oy
1
A2
2
.
3
£
4
Objective Question
82 121082 4.0 1.0(
Which of the following is wrongly matched ?
(1) Bit - Short form of Binary digit
(2) Cell - Boxes created by the intersection of rows and columns in MS Excel sheet
(3) Data - Raw facts and figures
4) MU - Short form of Modern Unit
Freferfam 3 4 = afem 7 27
(1) f&= (BiY) - I fefee % dfaa &9
(2) ¥ (Cell) - U U v viie # i qen well & ufamsel grr s e e srerer we
(3) SR (Data) - oruftskd deA e e
(4) THH (MU) - e gfte T it ®9
A
1
A2
2
=
3
Ay
4

Objective Question
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Who amongst the following received the first Jnanpith Award ?
(1) Ranganath Misra
(2) G. Sankara Kurup
(3) Damodar Mauzo
(4) Nilmani Phookan

frefafaa & @ foe gom i 9m yem foran mn?
(1) Ty |y

2) Sf. Wi FEY

3) TG TS

(4) et weEa

—

Al

1

A2,

2

A3 5

3

Ay

4

Objective Question
84 21084 4.0 1.0(
Who amongst the fU]_lDwi_ng is the first women in the world to go into space ?

(1) Valentina Tereshkova
(2) Kalpana Chawla

(3) Caroline Mikkelsen
4)

Marma Estela

frefafea o @ fava 1 e yum afeen #4 € =i efafe 18 2
(1) Seife Tgera

(2) T =l

(3) e frehed

(4) Hm T

Al
A2
A3

A4
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Match List - I with List - IL

List - I List - I

(Book) (Author)
(A) A Tale of Two Cities (I)  Emily Bronte
(B) Midnight's Children (I) Charles Dickens
(C) War and Peace (III) Salman Rushdie
(D) Wuthering Heights (IV) Leo Tolstoy

Choose the correct answer from the options given below :
(1) (A)-(), (B)~(1D), (©)-(I), (D)-(IV)
(2 (A1), (B)-(D, (O)-(1), (D)-(IV)
(3) (A)-(IO), (B)-(ID, (O)-(IV), (D)-(D)
4)  (A)-1D), (B)-(LLD), (C)-(1V), (D)-(I)

[t 1 gEit 11 E e s
T 1 T 11
(T ) (@)
(A) 3 32d A 2 fqTs () ufie sid
(®) freTszm face () e fedg
(C) TRUTHH (L) T TZ&r
(D) IR Eem (1v) ferd dferra

A fou o fawedl ® | Wi 3O 1 994 Hife
(1) (A)-(), (B)-(11), (©)-(D), (D)-(1V)
(2) (A1), (B)-1), (C)-(1), (D)-(V)
(3) (A)-(I), (B)~(IT), (C)-(IV), (D)-(L)
4) (A1, (B)-(D), (O)-(IV), (D)-(D)
Al
1
A2,
2

A3 5
3
Ay

4

Objective Question
86 21086
The Headquarters of United Nations is at :

(1) New York
(2) Geneva
(3) Paris

(4) London

T T (UN) =l qeAerd fa @
(1) g o

(2) SHarH

(3) uURwH

(4) weaH
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Who is the first Sikh Guru and founder of Sikhism ?

(L
2)
(&)
(4)

Guru Tegbahadur
Guru Gobind Singh
Guru Arjan

Guru Nanak

g fowg 7% qen forg e % ST e 2

(1)
(2)
()
(4)
o
1
A2
2
A3
3
s
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Objective Question

88 121088

Who amongst the following is the first scientist to get the Nobel Prize for India ?

(1)
)
)
(4)

frfafiaa o ¥ 3 gem S ®[ €, 5 YR & fog Ao geesr fean 7= ?

(1)
)
@)
(4)

Al

1

& TTIRTg
% Tifeie feE
TE 379
TE R

Dr. Hargobind Khorana
Dr. C.V. Raman

Dr. Vikram Sarabhai

Dr. Homi Jehangir Bhabha

=1, BfaE gu
21 G,

<1, fospy |rr
2. Bt SRR are
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Objective Question
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The first Commonwealth Games were held in the year 1930 at
(1) London
(2) Sydney

(3) Hamilton

(4) Perth

ad 1930 T Wl T o TeIHSH Wall 1 ESH Fel g o1 2
(1) e

(2) faet

(3) wfeed
(4)

Al
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Objective Question
90 21090 4.0 |/1.0(
‘Durand Cup’ is associated with which sport ?
(1) Football
(2) Table Tennis
(3) Cricket
(4) Polo

‘TeFT w I fFg A q 2?2
(1) Tt

(2) <Fa |

(3) fFwe
(4) g

Al

1
A2,
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Objective Question
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Read the passage and answer the questions that follow :

As British rule expanded from Bengal to other parts of India, new systems of revenue were imposed,
The Permanent Settlement was rarely extended to any region beyond Bengal.

Why was this so ? One reason was that after 1810, agricultural prices rose, increasing the value of
harvest produce, and enlarging the income of the Bengal zamindars. Since the revenue demand was
fixed under the Permanent Settlement, the colonial state could not claim any share of this enhanced
income. Keen on expanding its financial resources, the colonial government had to think of ways to
maximise its land revenue. So in territories annexed in the nineteenth century, temporary revenue
settlements were made.

There were other reasons too. When officials devise policies, their thinking is deeply shaped by
economic theories they are familiar with. By the 1820s, the economist David Ricardo was a celebrated
figure in England. Colonial officials had learnt Ricardian ideas during their college years. In Maharashtra
when British officials set about formulating the terms of the early settlement in the 1820s, they operated
with some of these ideas.

According to Ricardian ideas, a landowner should have a claim only to the “average rent” that
prevailed at a given time. When the land yielded more than this “average rent”, the landowner had a
surplus that the state needed to tax. If tax was not levied, cultivators were likely to turn into rentiers,
and their surplus income was unlikely to be productively invested in the improvement of the land.
Many British officials in India thought that the history of Bengal confirmed Ricardo’s theory.

Choose the correct statement.

(1) The Permanent Settlement system was extended to Bombay Deccan beyond Bengal.

(2) Theincome of the Bengal zamindars enlarged due to the increased value of harvest produce.

(3) In territories annexed after 1900, temporary revenue settlements were made by the colonial
government.

(4) According to Ricardian ideas, the government should have a claim only to the average rent
that the state needed to tax.

Read the passage and answer the questions that follow :

As British rule expanded from Bengal to other parts of India, new systems of revenue were imposed.
The Permanent Settlement was rarely extended to any region bevond Bengal.

Why was this so ? One reason was that after 1810, agricultural prices rose, increasing the value of
harvest produce, and enlarging the income of the Bengal zamindars. Since the revenue demand was
fixed under the Permanent Settlement, the colonial state could not claim any share of this enhanced
income. Keen on expanding its financial resources, the colonial government had to think of ways to
maximise its land revenue. So in lerritories annexed in the nineteenth century, temporary revenue
settlements were made.

There were other reasons too. When officials devise policies, their thinking is deeply shaped by
economic theories they are familiar with. By the 1820s, the economist David Ricardo was a celebrated
figure in England. Colonial officials had leamnt Ricardian ideas during their college years. In Maharashtra
when British officials set about formulating the terms of the early settlement in the 1820s, they operated
with some of these ideas.

According to Ricardian ideas, a landowner should have a claim only to the “average rent” that
prevailed at a given time. When the land yielded more than this “average rent”, the landowner had a
surplus that the state needed to tax. If tax was not levied, cultivators were likely to turn into rentiers,
and their surplus income was unlikely to be productively invested in the improvement of the land.
Many British officials in India thought that the history of Bengal confirmed Ricardo’s theory.

Choose the correct statement.

(1) The Permanent Settlement system was extended to Bombay Deccan beyond Bengal.

(2) Theincome of the Bengal zamindars enlarged due to the increased value of harvest produce.

(3) In territories annexed after 1900, temporary revenue settlements were made by the colonial
government.

(4) According to Ricardian ideas, the government should have a claim only to the average rent
that the state needed to tax.

4.0 | 1.0(
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Objective Question
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Read the passage and answer the questions that follow :

As British rule expanded from Bengal to other parts of India, new systems of revenue were imposed.
The Permanent Settlement was rarely extended to any region beyond Bengal.

Why was this so ? One reason was that after 1810, agricultural prices rose, increasing the value of
harvest produce, and enlarging the income of the Bengal zamindars. Since the revenue demand was
fixed under the Permanent Settlement, the colonial state could not claim any share of this enhanced
income. Keen on expanding its financial resources, the colonial government had to think of ways to
maximise its land revenue. So in territories annexed in the nineteenth century, temporary revenue
setlements were made.

There were other reasons too. When officials devise policies, their thinking is deeply shaped by
economic theories they are familiar with. By the 1820s, the economist David Ricardo was a celebrated
figure in England. Colonial officials had leamnt Ricardian ideas during their college years. In Maharashtra
when British officials set about formulating the terms of the early settlement in the 1820s, they operated
with some of these ideas.

According to Ricardian ideas, a landowner should have a claim only to the “average rent” that
prevailed at a given time. When the land yielded more than this “average rent”, the landowner had a
surplus that the state needed to tax. If tax was not levied, cultivators were likely to turn into rentiers,
and their surplus income was unlikely to be productively invested in the improvement of the land.
Many British officials in India thought that the history of Bengal confirmed Ricardo’s theory.

Choose the correct statement.
The landowners were likely to turn into rentiers if :
(1) agricultural prices rose.
2,
3
4

they had a surplus income yield.

— — —

)
) they minimized their land revenue.
) they collected the ‘average rent’.

4.0 | 1.0(



Read the passage and answer the questions that follow :

As British rule expanded from Bengal to other parts of India, new systems of revenue were imposed.
The Permanent Settlement was rarely extended to any region beyond Bengal.

Why was this so ? One reason was that after 1810, agricultural prices rose, increasing the value of
harvest produce, and enlarging the income of the Bengal zamindars. Since the revenue demand was
fixed under the Permanent Settlement, the colonial state could not claim any share of this enhanced
income. Keen on expanding its financial resources, the colonial government had to think of ways to
maximise its land revenue. So in lerritories annexed in the nineteenth century, temporary revenue
settlements were made.

There were other reasons too. When officials devise policies, their thinking is deeply shaped by
economic theories they are familiar with. By the 1820s, the economist David Ricardo was a celebrated
figure in England. Colonial officials had leamt Ricardian ideas during their college years. In Maharashtra
when British officials set about formulating the terms of the early settlement in the 1820s, they operated
with some of these ideas.

According to Ricardian ideas, a landowner should have a claim only to the “average rent” that
prevailed at a given time. When the land yielded more than this “average rent”, the landowner had a
surplus that the state needed to tax. If tax was not levied, cultivators were likely to turn into rentiers,
and their surplus income was unlikely to be productively invested in the improvement of the land.
Many British officials in India thought that the history of Bengal confirmed Ricardo’s theory.

Choose the correct statement.
The landowners were likely to turn into rentiers if :
(1) agricultural prices rose.

(2) they had a surplus income yield.
(3) they minimized their land revenue.
(4) they collected the ‘average rent’.
M
1
s
2
M
3
M
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Objective Question
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Read the passage and answer the questions that follow :

As British rule expanded from Bengal to other parts of India, new systems of revenue were imposed.
The Permanent Settlement was rarely extended to any region beyond Bengal.

Why was this so ? One reason was that after 1810, agricultural prices rose, increasing the value of
harvest produce, and enlarging the income of the Bengal zamindars. Since the revenue demand was
fixed under the Permanent Settlement, the colonial state could not claim any share of this enhanced
income. Keen on expanding its financial resources, the colonial government had to think of ways to
maximise its land revenue. So in lerritories annexed in the nineteenth century, temporary revenue
settlements were made.

There were other reasons too. When officials devise policies, their thinking is deeply shaped by
economic theories they are familiar with. By the 1820s, the economist David Ricardo was a celebrated
figure in England. Colonial officials had leamt Ricardian ideas during their college years. In Maharashtra
when British officials set about formulating the terms of the early settlement in the 1820s, they operated
with some of these ideas.

According to Ricardian ideas, a landowner should have a claim only to the “average rent” that
prevailed at a given time. When the land yielded more than this “average rent”, the landowner had a
surplus that the state needed to tax. If tax was not levied, cultivators were likely to turn into rentiers,
and their surplus income was unlikely to be productively invested in the improvement of the land.
Many British officials in India thought that the history of Bengal confirmed Ricardo’s theory.

The colonial state could not claim any share of the enhanced income of the Bengal zamindars

because :

(1)  the British rule had expanded from Bengal to other parts of India.

(2) the rise of agricultural prices increased the value of the harvest produce.
(3

)
) the revenue demand was fixed under the Permanent Settlement.
)

(4) the Permanent Settlement was not extended to any other region.

Read the passage and answer the questions that follow :

As British rule expanded from Bengal to other parts of India, new systems of revenue were imposed.
The Permanent Settlement was rarely extended to any region beyond Bengal.

Why was this so ? One reason was that after 1810, agricultural prices rose, increasing the value of
harvest produce, and enlarging the income of the Bengal zamindars. Since the revenue demand was
fixed under the Permanent Settlement, the colonial state could not claim any share of this enhanced
income. Keen on expanding its financial resources, the colonial government had to think of ways to
maximise its land revenue. So in territories annexed in the nineteenth century, temporary revenue
settlements were made.

There were other reasons too. When officials devise policies, their thinking is deeply shaped by
economic theories they are familiar with. By the 1820s, the economist David Ricardo was a celebrated
figure in England. Colonial officials had leamnt Ricardian ideas during their college years. In Maharashtra
when British officials set about formulating the terms of the early settlement in the 1820s, they operated
with some of these ideas.

According to Ricardian ideas, a landowner should have a claim only to the “average rent” that
prevailed at a given time. When the land yielded more than this “average rent”, the landowner had a
surplus that the state needed to tax. If tax was not levied, cultivators were likely to turn into rentiers,
and their surplus income was unlikely to be productively invested in the improvement of the land.
Many British officials in India thought that the history of Bengal confirmed Ricardo’s theory.

The colonial state could not claim any share of the enhanced income of the Bengal zamindars

because :
(1)  the British rule had expanded from Bengal to other parts of India.
(2) the rise of agricultural prices increased the value of the harvest produce.
(3) the revenue demand was fixed under the Permanent Settlement.
(4) the Permanent Settlement was not extended to any other region.
A
1
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Objective Question
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Read the passage and answer the questions that follow :

As British rule expanded from Bengal to other parts of India, new systems of revenue were imposed,
The Permanent Settlement was rarely extended to any region beyond Bengal.

Why was this so ? One reason was that after 1810, agricultural prices rose, increasing the value of
harvest produce, and enlarging the income of the Bengal zamindars. Since the revenue demand was
fixed under the Permanent Settlement, the colonial state could not claim any share of this enhanced
income. Keen on expanding its financial resources, the colonial government had to think of ways to
maximise its land revenue. So in territories annexed in the nineteenth century, temporary revenue
settlements were made.

There were other reasons too. When officials devise policies, their thinking is deeply shaped by
economic theories they are familiar with. By the 1820s, the economist David Ricardo was a celebrated
figure in England. Colonial officials had learnt Ricardian ideas during their college years. In Maharashtra
when British officials set about formulating the terms of the early settlement in the 1820s, they operated
with some of these ideas.

According to Ricardian ideas, a landowner should have a claim only to the “average rent” that
prevailed at a given time. When the land vielded more than this “average rent”, the landowner had a
surplus that the state needed lo tax. If tax was not levied, cultivators were likely to turn into rentiers,
and their surplus income was unlikely to be productively invested in the improvement of the land.
Many British officials in India thought that the history of Bengal confirmed Ricardo’s theory.

The meaning of the word ‘celebrated” as it appears in the passage (para - 3) is :

(1) commemorated

(2) gala
(3) reputed
(4) solemnized

Read the passage and answer the questions that follow :

As British rule expanded from Bengal to other parts of India, new systems of revenue were imposed.
The Permanent Settlement was rarely extended to any region beyvond Bengal.

Why was this so ? One reason was that after 1810, agricultural prices rose, increasing the value of
harvest produce, and enlarging the income of the Bengal zamindars. Since the revenue demand was
fixed under the Permanent Settlement, the colonial state could not claim any share of this enhanced
income. Keen on expanding its financial resources, the colonial government had to think of ways to
maximise its land revenue. So in lerritories annexed in the nineteenth century, temporary revenue
seltlements were made.

There were other reasons too. When officials devise policies, their thinking is deeply shaped by
economic theories they are familiar with. By the 1820s, the economist David Ricardo was a celebrated
figure in England. Colonial officials had leamnt Ricardian ideas during their college years. In Maharashtra
when British officials set about formulating the terms of the early settlement in the 1820s, they operated
with some of these ideas.

According to Ricardian ideas, a landowner should have a claim only to the “average rent” that
prevailed at a given time. When the land yielded more than this “average rent”, the landowner had a
surplus that the state needed lo tax. If tax was not levied, cultivators were likely to turn into rentiers,
and their surplus income was unlikely to be productively invested in the improvement of the land.
Many British officials in India thought that the history of Bengal confirmed Ricardo’s theory.

The meaning of the word ‘celebrated” as it appears in the passage (para - 3) is :

(1) commemorated

(2) gala
(3) reputed
(4) solemnized

Al
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Objective Question
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Read the passage and answer the questions that follow :

As British rule expanded from Bengal to other parts of India, new systems of revenue were imposed,
The Permanent Settlement was rarely extended to any region beyond Bengal.

Why was this so ? One reason was that after 1810, agricultural prices rose, increasing the value of
harvest produce, and enlarging the income of the Bengal zamindars. Since the revenue demand was
fixed under the Permanent Settlement, the colonial state could not claim any share of this enhanced
income. Keen on expanding its financial resources, the colonial government had to think of ways to
maximise its land revenue. So in territories annexed in the nineteenth century, temporary revenue
settlements were made.

There were other reasons too. When officials devise policies, their thinking is deeply shaped by
economic theories they are familiar with. By the 1820s, the economist David Ricardo was a celebrated
figure in England. Colonial officials had leamnt Ricardian ideas during their college years. In Maharashtra
when British officials set about formulating the terms of the early settlement in the 1820s, they operated
with some of these ideas.

According to Ricardian ideas, a landowner should have a claim only to the “average rent” that
prevailed at a given time. When the land yielded more than this “average rent”, the landowner had a
surplus that the state needed to tax. If tax was not levied, cultivators were likely to turn into rentiers,
and their surplus income was unlikely to be productively invested in the improvement of the land.
Many British officials in India thought that the history of Bengal confirmed Ricardo’s theory.

According to the passage, the colonial government made temporary revenue settlements

because :
(1) they wanted to enhance the income of the Bengal zamindars.
2)  they wanted to control the rising agricultural prices.

(=5

)
) they wanted to expand their financial resources.
) they wanted to decrease the value of harvest produce.

(
(
(

=
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Read the passage and answer the questions that follow :

As British rule expanded from Bengal to other parts of India, new systems of revenue were imposed.
The Permanent Settlement was rarely extended to any region beyond Bengal.

Why was this so ? One reason was that after 1810, agricultural prices rose, increasing the value of
harvest produce, and enlarging the income of the Bengal zamindars. Since the revenue demand was
fixed under the Permanent Settlement, the colonial state could not claim any share of this enhanced
income. Keen on expanding its financial resources, the colonial government had to think of ways to
maximise its land revenue. So in lerritories annexed in the nineteenth century, temporary revenue
settlements were made.

There were other reasons too. When officials devise policies, their thinking is deeply shaped by
economic theories they are familiar with. By the 1820s, the economist David Ricardo was a celebrated
figure in England. Colonial officials had leamt Ricardian ideas during their college years. In Maharashtra
when British officials set about formulating the terms of the early settlement in the 1820s, they operated
with some of these ideas.

According to Ricardian ideas, a landowner should have a claim only to the “average rent” that
prevailed at a given time. When the land yielded more than this “average rent”, the landowner had a
surplus that the state needed to tax. If tax was not levied, cultivators were likely to turn into rentiers,
and their surplus income was unlikely to be productively invested in the improvement of the land.
Many British officials in India thought that the history of Bengal confirmed Ricardo’s theory.

According to the passage, the colonial government made temporary revenue settlements
because :

(1)  they wanted to enhance the income of the Bengal zamindars.
(2) they wanted to control the rising agricultural prices.

(3) they wanled to expand their financial resources.
(4)

they wanted to decrease the value of harvest produce.

Objective Question

96 21096

Spot the error in the given sentence :

According to a survey / only those forests which were / not under village management /

(A) (B) (©)
succumbed from fires recently.
(D)
n A
@ (B
3 ©

4 (D)
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Spot the error in the given sentence :

According to a survey / only those forests which were / not under village management /

succumbed from fires recently.

(4)

(1
@)
)
(4)
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Objective Question
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Choose the correctly spelt word from the following options :

(1)
@
3

)
)
(4)

Choose the correctly spelt word from the following options :

0
2
)
4)

1
A2 5
2
3
M

4

Objective Question
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(D)
(A)
(B)
(©)
(D)

Hulaballoo

Hy poteneuse

Humdrum

Humourus

Hulaballoo

Hy poteneuse

Humdrum

Humourus

4.0 1.0(
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Choose the word which best expresses the meaning of the given word :

Humble
(1) Wicked
(2) Demeanour
(3) Reprove
(4) Ignoble

Choose the word which best expresses the meaning of the given word :
Humble
(1) Wicked
(2) Demeanour
(3) Reprove
) Ignoble

Objective Question

99 21099

4.0
A part of the sentence is underlined. Below are the alternatives which may improve the sentence.
Choose the correct alternative.

Sustainable development goals focus on adeptation and migration of climate change in agriculture

too.

(1) focuses on adeptation and migration
(2) focus on adaptation and mitigation
(3) focuses on adoption and migration
(4) focus on adoption and mitigation

A part of the sentence is underlined. Below are the alternatives which may improve the sentence.
Choose the correct alternative.

Sustainable development goals focus on adeptation and migration of climate change in agriculture

too.
(1) focuses on adeptation and migration
(2) focus on adaptation and mitigation
(3) focuses on adoption and migration
(4) focus on adoption and mitigation
A

1
A2

2
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Objective Question
100 21100 4.0 1.0(
Fill in the blank with suitable alternative.
She has assured that she will comply the latest directions.
(1) for
(2) of
(3) within
(4) with
Fill in the blank with suitable alternative.
She has assured that she will comply the latest directions.
(1) for
(2) of
(3) within
(4) with
Al 1
1
A2 5
2
A3 3
3
A4 4
4
Objective Question
101 21101 4.0 [ 1.00
Choose the word opposite in meaning to the given word.
RETAIN
(1) Impose
(2) Renounce
(3) Conserve
(4) Reserve

Choose the word opposite in meaning to the given word.

RETAIN
(1) Impose
(2) Renounce
(3) Conserve
(4) Reserve
Al 1

1
A2 5
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Objective Question
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Choose the word which best expresses the meaning of the given word :

Succinctly

(1) Rudely
(2) Viciously
(3) Timidly
(4) Briefly

Choose the word which best expresses the meaning of the given word :

Succinctly
(1) Rudely
) Viciously
(3) Timidly
)  Briefly

Objective Question

103 21103

Fill in the blank with correct alternative.
After a long heated argument, she has given

(2) for
@) to
4) up

Fill in the blank with correct alternative.
After a long heated argument, she has given
(1) in

(2) for
3) to
(4) wup
Al

1

the matter.

the matter.

4.0 1.0(
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Objective Question
104 21104 4.0 1.0(
A part of the sentence is underlined. Below are alternatives which may improve the sentence.

Choose the correct alternative.

I prefer to ride than to walk .

(1) ride to walked
) walks to ride
(3) riding than walking
) riding to walking
A part of the sentence is underlined. Below are alternatives which may improve the sentence.
Choose the correct alternative.

I prefer to ride than to walk.

(1) ride to walked

) walks to ride

(3) riding than walking
) riding to walking

Objective Question
105 21105 4.0 11.0(
Choose the alternative which best expresses the meaning of the idiom/phrase.

Eat humble pie

(1) Toyield

(2) To urge somebody
(3) To apologize

(4) To win approval

Choose the alternative which best expresses the meaning of the idiom/phrase.
Eat humble pie

(1) Toyield

(2) To urge somebody
(3) To apologize

(4) To win approval



Al
fxz
fx3
A4

Objective Question
106 21106 4.0 |1.0(
Pick out the noun form of ‘leave’.

(1) leaving
(2

3
4

lively

—_—

)
) leave
) left

Lo

ick out the noun form of ‘leave’.
1
2
3
(4

—

leaving

—_—

lively
leave

left

—

)
)
)
)

1
A2,
2

3
Ay
4

Objective Question
107 21107 4.0 |/1.0(
Choose the word nearest in meaning to the given word.

EXCULPATE

(1) Absolve

(2) Relate

(3) Subjugate
)

(4) Associate

Choose the word nearest in meaning to the given word.

EXCULPATE
(1) Absolve
(2) Relate

(3) Subjugate
(4) Associate



A2
A3

Ay

4

Objective Question

108 21108

Spot the error in the given sentence :

The visitors / complained at / the poor accommodation / they were given.

(&) (B) © (D)
L (A
@ (B
@ ©
4 (D)

Spot the error in the given sentence :

The visitors / complained at / the poor accommodation / they were given.

(A) (B) © (D)

Objective Question

109 21109

Choose the correctly spelt word from the following options :
(1) Imperterbable
(2) Impetous
(3) Impetuous
)

(4) Apostacy

Choose the correctly spelt word from the following options :
(1) Imperterbable

(2

(3
(4

) Impetous
) Impetuous
)  Apostacy

4.0 1.0(

4.0 | 1.0(



Al
fxz
A3
A4

Objective Question
110 21110
Choose the alternative which best expresses the meaning of the idiom/phrase.

Die in harness

(1) Die while working

(2) To die suddenly

(3) To commit suicide
)

(4) Diein poverty

Choose the alternative which best expresses the meaning of the idiom/phrase.
Die in harness
(1) Die while working
) To die suddenly
(3) To commit suicide
)

Die in poverty

Objective Question
111 21111
Fill in the blank :

He has this philosophy as being too cblique.
(1) praised

(2) criticized

(3) lauded

(4)  Thailed

Fill in the blank :

He has this philosophy as being too oblique.
(1) praised

(2) criticized

(3) lauded

(4) Thailed

4.0 1.0(

4.0 | 1.0(



Al
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A3
fx4

Objective Question
112 21112 4.0 1.0(
Choose the word which best expresses the meaning of the given word :

Abundant

(1) Diligent
(2)

(3) Copious
(4)

Apex
Existant

Choose the word which best expresses the meaning of the given word :
Abundant
(1) Diligent
)  Apex
(3) Copious
)

Existant

Objective Question
113 21113 4.0 |[1.0(
Choose the correctly spelt word from the following options :

(1) Dilletent

(2) Diletant
(3) Dillettant
(4) Dilettante

Choose the correctly spelt word from the following options :
(1) Dilletent

(2) Diletant
(3) Dillettant
(4) Dilettante



Al
A2
fx3
A4

Objective Question
114 21114 4.0 |1.0(
Spot the error in the given sentence :

I was pretty sure that / he would support me / to changing the age-old /
(A) (B) ©

and static structure of our organization.

(D)
(M (A
@ (B
@ ©
@ (D)

Spot the error in the given sentence :
I was pretty sure that / he would support me / to changing the age-old /
(A) (B) ©

and static structure of our organization.

(D)

m @A)
@ (B
@ (©
4 (D)

fM
52
:A3
4A4

4

Objective Question
115 21115 4.0 | 1.0(



Choose the word nearest in meaning to the given word.
UMBRAGE

(1) annoyance

(2) Distracted

3

) Reserved
(4) Contaminated

Choose the word nearest in meaning to the given word.
UMBRAGE
(1) annoyance
) Distracted
(3) Reserved
)

Contaminated

Objective Question
116 21116 4.0 1.0(
Choose the word opposite in meaning to the given word.

FOSTER

(1) Abet

(2) Stake

(3) Frustrate
)

(4) Endorse

Choose the word opposite in meaning to the given word.
FOSTER
(1) Abet
) Stake
(3) Frustrate
) Endorse

Objective Question



117 21117 4.0 1.0(

Fill in the blank :

The details of the are not known to me.
(1) indent

(2) incident

(3) antecedent

(4) abscondant

Fill in the blank :

The details of the are not known to me.
(1) indent

(2) incident
(3) antecedent
(4) abscondant

Al
1
A2 5
2

3
Ay
4

Objective Question
118 21118 4.0 1.0(
A part of the sentence is underlined. Below are the alternatives which may improve the sentence.

Choose the correct alternative.

With this realisation, she finds himself loose .

(1) found himself in the loss.
(2) found herself loosened.
(3) find herself lost.

(4) found herself lost.

A part of the sentence is underlined. Below are the alternatives which may improve the sentence.
Choose the correct alternative.

With this realisation, she finds himself loose .

(1) found himself in the loss.
(2) found herself loosened.
(3) find herself lost.
(4) found herself lost.
Al 1

1
A2 5

2



Ay
4

Objective Question
119 21119 4.0 1.0(
Choose the word opposite in meaning to the given word.

INAPPROPRIATE
(1) Imapposite

) Uncouth
(3) Amiss

) Acceptable

Choose the word opposite in meaning to the given word.
INAPPROPRIATE
(1) Imapposite

) Uncouth
(3) Amiss

) Acceptable

Objective Question

120 21120 4.0 |1.0(
A part of the sentence is underlined. Below are the alternatives which may improve the sentence.
Choose the correct alternative.

The company said to pay in cash or kind both.

(1) inclined in paying
(2) suggested that pay
(3) has offered to pay
(4) requested to pay

A part of the sentence is underlined. Below are the alternatives which may improve the sentence.
Choose the correct alternative.

The company said to pay in cash or kind both.

(1) inclined in paying
(2) suggested that pay
(3) has offered to pay
(4) requested to pay
Al 1

1



A3

Aty

4

Objective Question

121 21121

Choose the word opposite in meaning to the given word.

Narrow - minded
(1) Broad - minded

(2) Broad scale
(3) Intolerant
(4) Brooding

Choose the word opposite in meaning to the given word.

Narrow - minded

(1) Broad - minded
) Broad scale

(3) Intolerant
) Brooding

Objective Question

122 21122

Choose the word nearest in meaning to the given word.
cour

(1) Degrade

(2) Encroach

3

)  Reinstate
(4) Compensate

—_—

Choose the word nearest in meaning to the given word.
cour

(1) Degrade

(2) Encroach

(3) Reinstate

(4) Compensate

Al

1

4.0 1.0(

4.0 | 1.0(



A2
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Ady

4

Objective Question

123 21123

Choose the alternative which best expresses the meaning of the idiom/phrase.

Flog a dead horse

1)
2
®)
4

Choose the alternative which best expresses the meaning of the idiom/phrase.

To loose one’s temper

To revive interest in old matters

To quarrel

To avoid something

Flog a dead horse

(L)

Objective Question

124 21124

Choose the word which best expresses the meaning of the given word.

To loose one’s temper

To revive interest in old matters

To quarrel

To avoid something

Emulate

(1) Imitate

(2) Eradicate
(3) Annihilate
(4) Obstinate

Choose the word which best expresses the meaning of the given word.

Emulate

(1) Imitate

(2) Eradicate
(3) Annihilate
(4) Obstinate

4.0 1.0(

4.0 | 1.0(
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Ay
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Objective Question

125 21125

A part of the sentence is underlined. Below are the alternatives (1), (2), (3) which may improve the
sentence. Choose the correct alternative. Choose (4) if no improvement is required.

The central government were asked the states to end the discrimination on grounds of education.

) has requested the states
2)  had been ask the states
) ask the states

)

No improvement

A part of the sentence is underlined. Below are the alternatives (1), (2), (3) which may improve the
sentence. Choose the correct alternative. Choose (4) if no improvement is required.

The central government were asked the states to end the discrimination on grounds of education.

(1) has requested the states
(2) had been ask the states
(3) ask the states
(4)

No improvement

Objective Question

126 21126

Choose the word opposite in meaning to the given word.

Wild

(1) Cultured

(2) Ingenious
(3) Rude

(4) Declassified

4.0 1.0(

4.0 | 1.0(



Choose the word opposite in meaning to the given word.
Wild
(1) Cultured

) Ingenious
(3) Rude

) Declassified

Objective Question
127 21127
Fill in the blank.

Someone has defined genius as an infinite capacity
(1) off

(2) from

(3) for

)

to

Fill in the blank.

Someone has defined genius as an infinite capacity
(1) off

from

)
(3) for
)

Objective Question
128 21128

learning,.

learning.

4.0 1.0(

4.0 | 1.0(



A part of the sentence is underlined. Below are the alternatives which may improve the sentence.
Choose the correct alternative.

The machines stopped to work an hour ago.

(1) stop working

(2) stopped working
(3) stops work

(4) stopped the work

A part of the sentence is underlined. Below are the alternatives which may improve the sentence.
Choose the correct alternative.

The machines stopped to work an hour ago.

) stop working

) stopped working
3) stops work

) stopped the work

Objective Question
129 21129 4.0 | 1.0(
Choose the alternatives which best expresses the meaning of idiom/ phrase.

1 at ease

(1) Hopeful

(2) Angry

(3) In adilemma
(4) Uncomfortable

Choose the alternatives which best expresses the meaning of idiom/ phrase.
11l at ease

) Hopeful

(2) Angry

(3) Inadilemma

(4) Uncomfortable



A4

Objective Question
130 21130 4.0 1.0(
Pick out the verb form of “poison’.

(1) poisonous
(2) imprison
(3) poisonus

)

poison

Pick out the verb form of ‘poison’.
) poisonous
) imprison

(3) poisonus
)

poison

Objective Question
131 21131 4.0 1.0(
Choose the correctly spelt word from the following options :

(1) Reminiscences
(2

(3
(4

Reminiscenses

)
) Reminisenses
)  Remenescenses

Choose the correctly spelt word from the following options :
(1) Reminiscences

(2
3

(
(4

) Reminiscenses
)  Reminisenses
)

Remenescenses

Al
1
A2
2
A3
3
Ay

4

Objective Question




132 21132 4.0 |1.0(
Spot the error in the given sentence :

They took to / reading 'Times' / for the better knowledge / in the facts.

(A) (B) © (D)
L (A
@ (B
@) ©
4 (D)

Spot the error in the given sentence :

They took to / reading 'Times' / for the better knowledge / in the facts.
(A) (B) (© (D)

Objective Question
133 21133 4.0 | 1.0(
Pick out the verb form of ‘troublesome’.

) trouble - creator
) comfortable

(3) touble
) discomfort

out the verb form of ‘troublesome’.

comfortable
trouble

ck
(1) trouble-creator
)
)
) discomfort

A2
A3

A4




4

Objective Question

134 21134
Choose the word nearest in meaning to the given word.
CORPULENT
(1) Palatable
(2) Flourishing
(3) Bulky
(4) Affectionate

Choose the word nearest in meaning to the given word.
CORPULENT

(1) Palatable

(2) Flourishing

(3) Bulky

)

Affectionate

Al
1
A2,
2
A3
3
Ay

4

Objective Question

135 21135
Fill in the blank with correct alternative.
You should not rely the assurance of your friends.
(1) on
(2) the
3) to
(4) with
Fill in the blank with correct alternative.
You should not rely the assurance of your friends.
(1) on
(2) the
3) to
(4) with
Al 1
1
A2 5
2
A3 3

4.0 1.0(

4.0 | 1.0(



A4,
4
Objective Question
136 21136 4.0 1.0(
Fill in the blank with correct alternative.
He will hand the charge next week.
(1) out
(2) fill
(3) in
(4) over

Fill in the blank with correct alternative.

He will hand the charge next week.
(1) out

(2) fill

(3) in

(4)

over

Al
1
2
A3
3

Ay
4

Objective Question
137 21137 4.0 |1.0(
Choose the alternative which best expresses the meaning of the idiom/phrase.

Plough the sands
(1)  Futile labour

(2) To be suspicious
(3) To show false sorrow
(4) Fight meanly

Choose the alternative which best expresses the meaning of the idiom/phrase.
Plough the sands
(1) Futile labour

(2) To be suspicious
(3) To show false sorrow
(4) Fight meanly
A
1
A2
2

A3 5



3

Ay

4

Objective Question

138 21138

Pick out adjective form of “depress’.
(1) depression

(2
3
(4

) desperate
) depressed
)

desperation

Pi
1
2
3
(4

out adjective form of “depress’.

—_—

desperate

—

ck

) depression
)

) depressed
)

desperation

Al

1
2
A3
3
Ay

4

Objective Question

139 21139

Choose the word opposite in meaning to the given word.
FARCICAL
(1) Hysterical
(2) Terrible
(3) Facetious
)

(4) Serious

Choose the word opposite in meaning to the given word.
FARCICAL

(1) Hysterical

(2) Terrible

(3) Facetious

(4) Serious

Al
1
2
A3

3

4.0 1.0(

4.0 | 1.0(



Ay
4

Objective Question
140 21140 4.0 1.0
Fill in the blank :

The of these flowers is enchanting.
) stench
) fragrance
) smell
) odour
Fill in the blank :
The of these flowers is enchanting.
(1) stench
(2) fragrance
(3) smell

)

odour

Objective Question
141 21141 4.0 |1.0(
Choose the word opposite in meaning to the given word.

AGGRAVATE
(1) Affront

)  Abbreviate
(3) Alleviate

) lrritate

Choose the word opposite in meaning to the given word.

AGGRAVATE
(1) Affront
(2) Abbreviate
(3) Alleviate
(4) [lrritate
Al 1

1
A2 5

2



A4

Objective Question
142 21142

3

4

4

Spot the error in the given sentence :

All the doctors / were puzzled on the / strange symptoms / reported by the patient.

(A) (B) (© (D)
(A)
(B)
©
(D)

Spot the error in the given sentence :

All the doctors / were puzzled on the / strange symptoms / reported by the patient.

A2
A3
A4

Objective Question
143 21143

(A) (B) (© (D)
(A)
(B)
(©
(D)

Choose the correctly spelt word from the following options :

1
@
(3

)
)
4)

Resplaindent
Resplandant
Resplendent
Resplandent

Choose the correctly spelt word from the following options :

@
2)
©)
4

Al

A2

1

1

2

2

Resplaindent
Resplandant
Resplendent
Resplandent

4.0 1.0(

4.0 | 1.0(



A3 5
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Ay

4

Objective Question

144 21144

Spot the error in the given sentence :

Either of the plans / suits him and therefore / he decided not to / go out yesterday .

(A) (B) (© (D)
m (A
@ (B
@ ©
4 (D)

Spot the error in the given sentence :

Either of the plans / suits him and therefore / he decided not to / go out yesterday .

(A) (B) (© (D)
nH &)
2 (B)
) ©
4) (D)

Objective Question

145 21145

Choose the word which best expresses the meaning of the given word.
Celestial
(1) Perilous

(2) Perpetual
(3) Enormous
(4) Divine

Choose the word which best expresses the meaning of the given word.
Celestial
(1) Perilous

(2) Perpetual
(3) Enormous
(4) Divine

4.0 1.0(

4.0 | 1.0(



A2
A3

Ay
4

Objective Question
146 21146 4.0 | 1.0(
Pick out adjective form of the word ‘command’.

(1) commanding

(2) commander
(3) commanded
(4) commanders

Pick out adjective form of the word ‘command’.
(1) commanding

(2) commander

3

) commanded
(4) commanders

Al

1

A2
2
3
4

Objective Question
147 21147 4.0 |[1.0(
Choose the word which best expresses the meaning of the given word :

Mesmerize

(1) Musionary

(2) Enchant
(3) Luxuriate
(4) Decoy

Choose the word which best expresses the meaning of the given word :
Mesmerize

(1) INusionary

(2) Enchant
(3) Luxuriate
(4) Decoy



A2
A3
A4

Objective Question
148 21148 4.0 1.0(
Choose the word opposite in meaning to the given word :

DELEGATE
(1) Bequeath
()

(3) Dispense
#)

Retain
Relinquish

Choose the word opposite in meaning to the given word :
DELEGATE
(1) Bequeath
) Retain
(3) Dispense
) Relinquish

A2
A3
A4

Objective Question
149 21149 4.0 [1.0(
Choose the alternative which best expresses the meaning of the idiom/phrase.

At the beck and call
(1) To look for power

(2) At the service
(3) In the centre
(4) Run away from responsibilities

Choose the alternative which best expresses the meaning of the idiom/phrase.
At the beck and call
(1) To look for power

(2) At the service
(3) In the centre
(4) Run away from responsibilities



A2

A3

A4

Objective Question

150 21150

A part of the sentence is underlined. Below are the alternatives which may improve the sentence.

Choose the correct alternative.

The world economy is into the recession

(1
2)
)
4)

—_—

A part of the sentence is underlined. Below are the alternatives which may improve the sentence.

of a recession.
on in recession.
for recession.

in a recession.

Choose the correct alternative.

The world economy is into the recession

(1)
(2)
(3)
(4)
Al
1
A2,
2
A3
3
Ay

4

Objective Question

151 21151

Suppose you are working in an organization where you require help from one of your colleague
(with whom you don’t get along well). Her help is needed to finish one crucial project, you will :

1)
(2
3

)
)
(4)

of a recession.
on in recession.
for recession.

in a recession.

approach her and ask for help.

approach someone else.

approach her indirectly through another colleague.
try finishing this project single handedly.

4.0 1.0(

4.0 | 1.0(
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(1
2

—

)
)
3)
(4)
Al
1
22
2
Ay
3
M

4

Objective Question
15221152

Ik UTH TR 3T e /i |

ot ot =afor & ergan |/ |

foret ot Hesrdl o HITAH | 3EY STYcAsd: FErgdr /el |
T UfTAISHT 31 3TRet & 0 4 |

You have a birthday party at your home. However, your maid due to her sudden ill-health, sends
her 10 years old son instead to support you . You would :

(1)
@)
)
4)

Politely ask your maid to come even if she is sick

Send the little boy back to home and handle the arrangement work by your own skills
Start the work after giving work based instructions to the little boy

Take the little boy’s help only for easier tasks

MR TR Y U SIAfeA WISl ¥ | Oy ST STEae] 2 & I ST HE 3 T & TIH T 3794 10 Fd
IS I MTF Fergared G T 1 AT

1)
(2)
3)
(4)
Al
1
A2
2

A3 5

3
Ay
4

Objective Question
153 21153

Tormargul 791 e § e foh o8 SFTaTedl & arasg 31 S |

TG DI TTSF H1 TR I TSHT 3197 P9 T TR Sasmy Faref i |
TH B TSH I HY TG o9 St T &Tsy i |

Fad B~ HM % faIu 39 e Tk FT geaEd o |

4.0 1.0(

4.0 | 1.0(



While handling a very angry guest in a hotel where you are working, you will :

0
&)
)
4)

Just ignore that guest as presently you are not working as a team leader
Raise vour voice little loud to control the situation
Ask that guest to meet with your team leader and refuse to talk to him

Consult your team leader and try to resolve the issue at earliest

a1y Tt Srea § =M # @ € 31 o' U aegw I WeHE 31 T © | S Hyyrer % fore o

(1
2

—_—

)
)
3)
(4)
Al
1
A2
2
5
3
Ay
4

Objective Question
154 21154
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While you are out of your house, you realised that there has been a theft in your house where

some cash and number of expensive items have been stolen . You will :

(1) Feelreally very disappointed and will curse your luck
(2) Start meeting property dealers for buying a new house to shift there
(3) Try to forget the incident and be more careful in future times
(4) Talk to your neighbours and try to hold them responsible for the incident
& 379 SR 9T 9, @ SR A o Sk R H =N g8 § oI 359 TR a9 e it w0 foran
TR ST
(1) Gy sge R T e 37 o R R |
(2) T Ser ¥ e T T S @EA F FW TE FL Sl 9 F@l S TF
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(4) T4 vSifeEi | T FE a1 39 T ¥ fou 3% 3t e |
ay
1
A2
2

A3 5

3

4.0 | 1.0(



Ay

4

Objective Question

155 21155

Al
A2
A3

A4

When you are paying money (fare) to the old rickshaw puller, he urges you for some extra money
apart from the standard (normal) fare, you will :

0
&)
)
4)

Scold him to teach him a lesson as these things are not good for society
Give him little extra money without making any hue and cry
Bluntly refuse to give him any money as asking extra money is an act of cheating

Tell him that you will give him only the normal fare at that moment and extra money he can
take from you, the next day
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Objective Question

156 21156
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In the boys hostel after taking a bath, you suddenly remember that you left the electrical geyser
ON. You will :

0
@)
)
4)

Ignore thinking that this was your first incident and you will not repeat it again
Go back immediately to the hostel to turn it OFF

Ask your friends in the hostel to switch it OFF

Do it again since you regularly pay your hostel charges
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Objective Question
157 21157

The medicine you bought from nearby pharmacy store is not able to cure your disease. You suspect
the medicine to be spurious and not genuine. You will :

0
2

)
4)

Try to ignore the incident and purchase from another pharmacy store

Ask neighbours if they had similar experience while consuming same medicine and if yes,
take up the matter to consumer court/other agencies

Tell the pharmacy store to change the medicine

Ask others to take up the matter in most genuine manner
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(4)
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2
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3
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4

Objective Question
158 21158
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Whenever I take any decision, then I:

@
2)
(©)
4

Feel there can always be a possibility of even more better solutions and change it
Do not change it
Sometimes curse myself for taking that decision

Never change it
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Objective Question
159 21159
All Industrial units must be away from the residential units because :

(1) The workers will go to the home frequently and work will suffer
(2) Industry’s expansion can easily take place
(3) The smoke emitted from industrial units is bad for health

)

(4) The town - planners are more concerned about standard rules so that votes can be increased

during the time of election
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Objective Question
160 21160
A Fresher’s welcome party is to be organized in your Institute. As a student, you will :
(1) Try to organize single handedly on your own
(2) Take the help of your fellow batchmates
(3) Volunteer but let some other group of students take the lead
)

(4) Try as far as possible organizing as less number of events as possible
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Objective Question

161 21161
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Your friend has not invited you to her birthday party. You will :

0
@)
)
(4)

Just ignore the whole affair
Attend the party

Send her your best wishes
Hold grudges against her
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Objective Question

162 21162

You came to know that your boss is writing a false report to the senior most authority of your

Y fera sl ASREiETS i |
et § w2 |

39 % ST YHTIATS S |
3G i ST AT T |

organisation. You will :

0
2
()
(4)

Meet your boss and directly protest against his actions

Discuss with your colleagues and then further take any step, together

Somehow ignore the whole situation

Keep quiet as talent can never be kept hidden for long. Another opportunities will come.
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Objective Question

16321163 4.0 1.0(
You have just broken up with a long term friend whom you really cared and loved and are totally
distraught .You :

(1) Cry out when you are alone.

(2) Resort to addictives for some time till the situation is not in control
(3) Share your sorrow with someone
(4) Try to forget about it by going out with friends
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Objective Question
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A melro train is coming and you are standing at the metro station. All of a sudden you notice that
the track is broken. You will :

0

G)
(4)

Immediately leave the metro station
Go and inform the authority of metro for taking suitable action
Use some means to stop the metro train immediately

Do not worry at all because metro station has all necessary infrastructure to tackle such
situations

T 29 31 W ¥ 2R o9 WY WY W WE ¥ | AEFE S S i faear € fe ued 22 gl €1 e

(1)
2)
@)
)

—

(4

Al
A2

A3

A4

Objective Question

165 21165
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To be an ideal manager, you should :

(1)  Stick to your rules
(2) Be authoritarian in your approach
(3) Organize conferences and seminars for your subordinates
(4) Present yourself as an example.
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Objective Question

166 21166
A local Rowdy (bad element) has started illegal construction on your vacant plot. He has refused
your request to vacate and has also threatened you with severe consequences in case you do not
sell the plot at a throwaway price to him. You would :

(1)  Sell the property at cheaper price to him as unnecessarily we must avoid creating tensed
situations

(2) Askhelp of local rowdy (bad elements) who is known to him
(3) Inform the police for necessary action

(4) Negotiate with the Rowdy to get a higher price
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Objective Question
167 21167
You do not like few habits of one of your close friends, you would :

(1)  Accept him as he is as this is the act of true friendship
(2) Tell him indirectly that you do not like those habits
3

(

)
)  Start ignoring him since no one can change a grown up young mind
(4)

Tell him so and ask him to change his habits
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Objective Question

168 21168

If you want to computerise your office to make it more efficient and upgraded, you would :
(1) Ask old and less technical staffs to resign by themselves

(2) Adjust the surplus workers at some other place as per their qualification and skills

(3) Expel some of the employees due to surplus working staffs

(4) Get the whole staff trained accordingly
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Objective Question

169 21169

You are store manager of a Retail outlet. You have thought of an innovative procedure that you
consider would enhance the effectiveness of work process. Some employees including the senior
staffs do not agree on this change. One senior staff openly criticized the innovative idea suggested
by you to the CEO of your organization. You will :

(1) Decide not to respond to the critics
(2 Scold the senior staff who has complained to the CEO
3

(

)
) Meet the employee for a talk and also explain the benefits of that innovative procedure
4)

Decide not to go ahead with your plan as ‘employee satisfaction’ is nowadays given a priority.
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Objective Question
170 21170

™
2
)
4)

1)
(2)
3)
(4)
Al
1
<
2
A
3
Ay

4

Objective Question
171 21171
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In the hotel where you are working, a colleague asks for your views/opinon on specific matter
that is not directly concerned with you. Therefore you will :

Show no interest in that conversation as the matter is not directly concerned with you
Give your opinion in a straight forward manner
Avoid your colleague since we must always mind our business

Revert in a diplomatic manner to please everybody

o Bea T o9 1 Fa € SU BIed 1 AYHT U Heanh 99 v TRt fafere ey 3 s H snues
faramysmaent T qod & e o @Y w9 9 716 9 €1 e &

3 Tt | i el TE o FR fF g% T smod /Y 91 W 16 99 g
o a-are % Tl St T S

ST el ol AT w1k eH 319 M 9§ FHH @A =AMfey |

T A o GI T F [0 398 FAlfar €T F FH F |

4.0 1.0(

4.0 | 1.0(



You are studying in class 10t Your friends who are studying with you in the same class like
consuming (drinking) beer. One evening after the completion of your tuition class your friends
influence you to drink small glass filled with beer. You will :

0

2)
©)
)

Drink as once you heard somewhere by a doctor that consuming bear removes toxin from
your body

Drink plenty of fruit juice first before consuming the beer
Refuse and lie to them (friends) that you have kidney problem

Refuse to drink (consume)
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Objective Question
172 21172
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An angry guest in the hotel wants to meet the senior manager for grievance reporting. As an
Assistant manager, you will :

0
2
3)
(4)

—

Be patient and try to cool him down
Talk to him after consulting seniors
Tell him politely that senior manager is not available at the moment

Try to engage him in a long conversation
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Objective Question
173 21173

In the present context of Digitalization/Social media usage, listening to the news on television is a :

@
2)
)
4)

fefsrecfrmrogeme Mifean & 9am & adar He # eeffels 9 TH=ER G

)
2
®)
#)

Al

1

A2,
2
A3
3
M
4

Objective Question
174 21174

wastage of our time
way to know about happenings around
activity that has no practical relevance

tool for our gossips throughout that particular day

TR TG F GETEN ©

ST 1 S21si % 9N H S 3 T T &
w1 fopareRe & freeR =iE saEerits S 6 €
39 T famm & forw g9 7999 =1 Tk /ieAd € |

If two persons are openly having a fierce fight, you will :

0
2
(&)
4)

Support one person who stays in your locality
Inform the police, next day
Do not get involved

Learn about the issue and try to end the conflict
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Objective Question
175 21175

You wish to have your own start up business in a new city. You will :

@
)
3)

4

Start your business immediately and will come to know about market and consumer’s choices
You will survey the entire state before investing your money

You will inquire your family, friends and relationship and relatives, about their choices and
preferences and decide thereafter

You will select a sample area and sample size of people for survey and take decision accordingly
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Objective Question
176 21176
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You and your father were about to enter one of the 5 star hotel of Delhi, suddenly you heard an
intense sound of blast very close by you. You would :

(L)
@)

()
(4)

Start screaming for help at the same time try calling to local police station.

Run towards the side of your father and hold him tightly. Start conversation with him to
make him relaxed.

Start praying while controlling your anger.
Start locating the source of noise.
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Objective Question

177 21177
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To be an ideal “team leader’ I must possess :

(1)
@)
)
4)

Full support

Huge trust

Supervisory skills
Decision making ability
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Objective Question

178 21178
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Preservation of the petroleum products is very important as :

1)
(2
3

)
)
(4)

Indian government has recently passed such law.
The Gulf countries are slowly exporting less oil than our requirement.
The preservation of petroleum products leads to better quality.

Improper usage will exhaust the resources.
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Objective Question
179 21179
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While you are locking your flat to go somewhere, you will :

1)
2

)
(4)

Expect your elder member of the family to switch off all lights and fans.

Ask any of your family member to switch off all lights except one to make an impression that
someone is still staying inside the flat.

Personally ensure that it is done.

Think that being a younger family member it is none of your concern.
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Objective Question

180 21180

A4,
4
Do you agree with a opinion that one should ideally change his or her job and face new situations ?
(1) Never, as the new situation may or may not suit you.
(2) No, as it takes lot of time making an impression in a company.
(3)  Yes, only when you are compelled to do so.
(4)  Yes, one should accept the challenge.
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Objective Question

181 21181

Al

Give your honest opinion :

One morning after waking up you feel having a mild sore throat problem. Then you feel :
(1) Not necessary attending office

(2) Not required to go office whenever any one not feels well

(3) Unnecessary to even think about any duty

(4) Necessary to attend work to complete urgent work
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Objective Question
18221182

In the Corporate Sector, people consider “pleasing” as an important art for self growth. My view

suggests :
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Objective Question
183 121183

If few students of a school fail in the mid term exam, it is the fault of :
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1

It is very essential for making progress in one’s life
It is an art which everyone can't do it

It is absolutely futile

I don’t know since [ am not experienced else I would have done it
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The Administrator

The subject teacher
Students themselves

It cannot be generalized
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Objective Question
184 21184
‘Service aptitude’ implies to you as :
(1) Hard work and pain involved in providing services
(2) Strong dedication in providing back office type of work assignments
®)
(4)

Strong metal capabilities in handling pressure while offeri_ng services

Strong desire to provide services
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Objective Question
185 21185
Ideally while working in a group, [ personally tend to be :

(1) co-operative with others

(2) aDbit more assertive to be listened by others
(3) more adjustable but also depends on situations
(4) not involved as doing work alone is the best way recommended by many
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Objective Question

186 21186

Whenever you see water running from a tap in your school, while no one is using it. You consider :
(1) Walking away as your job is not to take care of administration

(2

(3
(4

) Before closing the tap, drawing attention of other students and school staffs towards it
) Closing the tap to ensure no water is wasted
)

Leave the water running, as practically it is impossible to close the tap perfectly
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Objective Question

187 21187

You are sitting inside your flat to prepare a project report for next day’s presentation in the classroom,
suddenly a procession comes in front of your flat. This acts like :

(1) An input for your preparation as procession gives you valid inputs for making projects

@)

(3) A barrier to your communication process
)

(4

A very normal incident in any urban locality

A distracter to your preparation
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Objective Question

188 21188 4.0 |1.0(
Which trait is considered to be the most desirable one for a person who wants to join any service
sector ?

(1) Team work
@

(3) Good Height

(4) Helping attitude

Patience
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Objective Question

189 21189 4.0 |/1.0(
Assume a situation of a midnight when you are passing alone in an utterly secluded place, away
from the main part of city. Few criminals with local pistol appears in front of you and softly asks
you to cast off your gold chain and mobile phone. What will you do ?

(1) Politely tell them that you are new in that area so they must not behave like that
(2

(3
(4

) You will offer your gold chain and mobile phone
) You will scold them badly and guide them how they can be successful if they study hard
)

You would run away as fast as you can
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Objective Question
190 21190

After joining the management trainee program of a hotel. You are paid your first month stipend.
After your shift gets over you went to a mall for purchasing cloth for yourself. What factor is most
important for your purchase ?

(L)
@)
)
4)

The cloth must be suitable for you
The cloth must always be bought as suggested by shopkeepers or others
The costliest cloth

The unique design even if it is causing slight of discomfort to you
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Objective Question

191 21191

As per your temperament is concerned, you :

(1) Won't criticize anybody unless you are sure about his/her fault
)

(3) Do not like criticizing people
4)

Would never criticize anybody

Criticize people, the moment you find any fault
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Objective Question

192 21192

Describing your personality, you are :
(1) Optimistic
(2) Pessimistic

(3) In between
(4) Apathetic
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Objective Question
19321193 4.0 1.0(
When I look at my past, I often regret of my past decisions ?

(1) Strongly agree
(2

(3
(4

) Agree
) Disagree
) Strongly disagree
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Objective Question

194 21194 4.0 |1.0(
While dealing with a customer who is very upset about some services provided by your hotel,
which of the follnwi_ng you need most ?

(1) Cleverness

(2) Politeness
(3) Logic
(4) Patience
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Objective Question
195 21195

As a reward to your service performance, your company has nominated you for a performance
Improvement training program. The problem is that you are not interested in going there. You

Proceed for joining the training program, keeping your interest aside
Inform your supervisor (Boss) to send someone else
Go for the training but will participate only few sessions of the training program

Try to find some excuse to avoid the fraining
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Objective Question
196 21196
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Who is mostly responsible for solving the problems of any business organisation ?

(1)
2
(3

)
)
(4)

Employees
Supplier
Management
Luck
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Objective Question

197 21197
Consider yourself as a parent of an adolescent son. Towards your son, your attitude is best reflected
with which of the following statement ?

(1) Ishall allow him full freedom to do whatever he thinks is good for him
(2) Ishall decide everything for him
(3) [ shall conduct an open discussion with him and let him make his own decision

(4) Ishall ask him to talk to his friends. The majority of his friend’s decision should ideally be his
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Objective Question
198 21198
Effectiveness of classroom teaching in school has to be judged in terms of :

(1) Course coverage
(2) Student’s interest
(3

(4

)
) Learning outcomes of students of the class
)

Usage of strict discipline through punishments
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Objective Question
199 21199 4.0 | 1.0(
One of your childhood friend wants to borrow some amount of money (that you have personally

saved for yourself) what will you do ?

(1)  Tell him that you will lendmoney provided he pays with some interest along with the principal

amount
(2) Say him ‘NO’ and teach him the ill effects of borrowing money from anyone
(3) Suggest him to take money from another friend who is from a very rich background

(4) Spare the money he wants and helps him out
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Objective Question
200 121200 4.0 1.0(
Whenever you start doing any new activity, you :

(1)  Are hesitant
2
3
(4

)  Start it with much enthusiasm but feel low in energy afterwards
)  Commence it after careful planning
)

Walch movies to divert your mind
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